The poorest 10% pay 43.5% rate of tax, the richest 10% pay 34.3%.
This is because indirect taxes, like VAT, hit the poor much harder

than the wealthy who pay more income tax.

Taxes paid by
poorest 10%

BN
- Council Tax
- Income Tax

- National Insurance

Taxes paid by
richest 10%

B TV licence Lottery B Other indirect Taxes

Vehicle Excise [ Air Duty B commercial rates
B Hydrocarbon B Insurance Tax Employers' NI

Wines & spirits ] Betting taxes B direct hydrocarbon
B customs B Vehicle Excise Indirect
] Stamp Duty Other Intermediates

Beer & cider
Tobacco

The poorest pay the
highest rate of tax,
because the tax is not
fair
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